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307 Qlz2tol A 15,000 25,000 A 10,000
= 7,500
Al 7,500
02 QI2tFAB X 15,000 25,000 A 10,000
SEAHLES0I2 84 15,000, 000* 10 2 15,000
& 7,500
Al 7,500
402 SIZ2tXE01A 277,000 25,000 252,000




M s€lis4dH

H: =oESARHUI D (SHYSL/Y - 55)
Gol sENANLRZ (Etel & e
_ _ - HEc
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
= 138,500
Al 138,500
01 BIZtGEEX 277,000 25,000 252,000
STY AN BOIZH N
42,000, 000% 174 2 42,000
= 21,000
Al 21,000
N &2 Ity 200,000, 000%17H 2~ 200,000
= 100,000
Al 100,000
sEAZ =02 =4 35,000,000 17 £ 35,000
= 17,500
Al 17,500
NEsEXNTALSESXR(XE) 50,000 25,000 25,000
= 50,000
403 AXIHHSA=201H 50,000 25,000 25,000
= 50,000
01 RXESMIA2E = 50,000 25,000 25,000
NEsEXNTAIS S H A& 50,000
= 50,000
selI=X& 1,242,610 1,876,740 A634,130
= E o | EH H = ANE S
(==
gdoids SEX 12 %
= 567,640
= 5,000
Al 669,970
sll=22 225,440 82,050 143,390
201 LetEHH| 35,580 19,760 15,820
01 Atzeldl 33,580 14,520 19,060
AESEEHA 2E 4B 200,000%155 3,000
MEE=sY JIsllE 6,000
Hols, E, JIa4Ma2e NEH=(2lE
&) 1,000+1,000%*35& 3,000
CANRES 2 ARS 100,000%15& 1,500
- SHEAMSAIY ZUE 0N 2,000¢1502 %55 1,500
Jls2g N& 5,900
CNEXRZ(2ESH) 1,000%900F 33 2,700
CAEANY HE 100,000%205 2,000
SEsY AMBEAMY Botal 2 HAXAS
T 600, 000+2CH 1,200
Hoote sHEE SEAMHIA NJE 2
300,000%25& 600
H 8ais dE 423 100,000%10& 1,000
SIA =3lxcl 2& 12,580
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M s€lis4dH

Hu: sNROARAYISTS (SUNLSL /Y - 5E)
gel sYl=NE (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
L2225 100,000%105 1,000
=] 30,000%7Z *40H 8,400
=7 50,000%508 2,500
w2 0=l 85,000+2E *45 680
SIH wWsSetd AEIH 1,000%2,000% 2,000
SIH HEAIE BES 25,000 100CH 2,500
02 =234l 2,000 5,240 A3,240
wWEE sIH SANE* 200,000%10& 2,000
206 M=l 49,500 25,000 24,500
01 M= bl 49,500 25,000 24,500
AESZTEYERE 29 500,000%10& 5,000
E HSYE DHUUTAN HIHAH HSAEAM
i 900,000%10& 9,000
ELXHE HE2EH J|ttets 500,000%10& 5,000
H42s9 2olEA 300,000%10& 3,000
LSS SAAMEY 1,500, 000%37H £ 4,500
ZEd sl £ NSE & MAAY
500,000% 1074 2 5,000
Q=g NSE A HAAIE  9,000,000% 170 & 9,000
Jlsd s2el THHHAI- 5,000, 000% 104 2 5,000
ol s E SEAMHA X3 2
100,000%15& 1,500
Ol HA 22 AMEHA 2,500,000% 104 2 2,500
301 Yptsaazg 3,360 2,590 770
10 EALAHIEA S 3,360 2,590 770
Jls8s N&E 7,000% 150 23| 2,100
SIH &3lel U= 7,000+180 1,260
402 SI2H X201 9,500 27,100 A 17,600
01 It HEEX 9,500 27,100 217,600
H gois 2 dS)I=Es MY
3,500, 000%29H £ 7,000
SAL A2 AlY 2,500,000% 104 2 2,500
403 AXISHHSKA=201H 70,000 0 70,000
01 MXISMAZ2E = 70,000 0 70,000
Sgads 2ATHIXNE 70,000
405 KHoHESHI 57,500 7,600 49,900
01 T =S HSHI 57,500 7,600 49,900
wEE sJ|H(=5d =4J]) 6,500,000+1CH 6,500
AETEER 23 6,000
A HE 3,000,000+ 1CH 3,000
CAE 2 OAISHE 200,000%5J1 35 3,000
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L SIS M
L sE20l

=PI

SHUIIS2S(SPHYLL /59 - s&

2
J2

20
R
J2H

E MEEA JIgES FUI(AHME0IZ)

45,000,000+ 1CH

45,000

= W

46,000

23,000
23,000

36,000

10,000

101

6,500

3,250
3,250

4,600

1,900

04

6,500

6,500

3,250
3,250

4,600

1,900

201

=

8,000

4,000
4,000

11,400

A3,400

01

>
10
1=
o
=

0%
ob

Of

H
02
I

pal
o
>
o
02

0x
12
HO
02

= W

8,000

5,000
2,500
2,500
3,000
1,500
1,500

10,400

A2,400

206

24,500

12,250
12,250

10,000

14,500

01

= W

24,500
2,500
1,250
1,250
6,000
3,000
3,000

16,000
8,000
8,000

10,000

14,500

405

= W

7,000

3,500
3,500

8,000

A 1,000

01

4 2Z (01224 E PH meter)

3,000,000+ 1CH

4,000,000+ 1CH

= W

= W

7,000

3,000

1,500
1,500

4,000

2,000
2,000

8,000

21,000




D s9Jl=dH

D SYEEHES LA EES(

=PI

o

=
e

N - Z3 - S2(3AH) - MRA

Srbt/sd - &
H . .HAHNEZ2
= [ ]

[
2

20
B
2

WA SHEI| XA (X 18,500 12,000 6,500
= 18,500

308 XXM SOIE 6,000 12,000 26,000
= 6,000

01 AXSHHBAEERS 6,000 12,000 26,000
WS ASSHEI| =X 6,000
= 6,000

403 XX SHSKH=0lH 12,500 0 12,500
= 12,500

01 RHXISHIEE=X 12,500 0 12,500
WA s =X 12,500
= 12,500

SIHSEAE (AE) 35,500 71,100 A35,600
= 17,750
Al 17,750

201 LerRgy| 1,150 1,400 A250
= 575
Al 575

01 AFR22ld 1,150 1,400 A250
A2 Jz2LS 23,000%50H 1,150
= 575
Al 575

301 LetE A= 350 700 A 350
= 175
Al 175

10 HAIAH 242 350 700 A 350
HAOIR Il DS 7,000%50% 350
= 175
Al 175

405 KHAHFESHI 34,000 69,000 135,000
= 17,000
Al 17,000

01 XA SEFSHI 34,000 69,000 A35,000
SIH RS 34,000
Eag 28,000,000 1CH 28,000
= 14,000
Al 14,000
CHU=SHZT L HIAEDI 6,000,000% 14 6,000
= 3,000
Al 3,000

SIIHEAAIL (R) 750 10,450 A9,700
= 750

308 XXISHSOIE 750 450 300
= 750




SN Sl
HH: SMSARNUILTS(SHHY S /5 - 55
SE R BIPS L

. N ZH
(=2

- SHRI(EAH) - NEAY - BE=

20
B
2

01 HXSHILEES 750 450 300
S HEDAY 750
= 750
SEHYI|IEMES 109,280 105,000 4,280
2 5,000
Al 104,280
201 Ypre | 10,180 4,900 5,280
01 AtR2telt| 4,900 4,900 0
ASES J|ENE 4,900
ASRS 223 L NENE
900+1,0005 %35 2,700
AgANY B2 100,000%10% 1,000
ASHS O U BIIE UY
600,000%2CH 1,200
02 ZZ2YH| 5,280 0 5,280
TAG=0|SBRIAAY XSS
440,000%122 5,280
206 T2l 57,000 38,000 19,000
01 MZH 57,000 38,000 19,000
AZAEE 29 2,000,000%4% 8,000
+E233 RNIEE 223 MY
10,000,000+ 17H 4 10,000
ZATHHH E0IE B D222 AlE
10,000,000+ 17H 10,000
SRS 2AEF HAAY  5,000,000%1H A 5,000
DENSHE TEY HHELH Al
4,000,000% 10 2 4,000
AR = TS 2222 AY
20,000,000 17H A 20,000
301 YstBAZ 2,100 2,100 0
10 BALAH 2 A 2,100 2,100 0
ASRS JEXE 7,000%300% 2,100
400 QI2tRHEO0IH 40,000 60,000 A20,000
= 5,000
Al 35,000
01 PIAX=EE 40,000 60,000 20,000
A0 HIUXZEZ NSRS 2322 Al
30,000,000+ 17H 4 30,000
XAEsH AL (AIZR0 IR B2AD|=
AlE) 10,000,000+ 17 4 10,000
= 5,000
Al 5,000
MBS AN (RE) 510,000 300,000 210,000
= 255,000
Al 255,000




M s€lis4dH

HH: SAFSOINRUI|EE

1
0
U
%
0
1
B
o
R
i
U

S PIEL (25l &2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
201 Y2 7,400 8,000 600
= 3,700
Al 3,700
01 AR eIt 7.400 8,000 A600
TAsY AE 7,400
=2 3,700
Al 3.700
206 TWEH| 12,600 20,000 AT7,400
= 6.300
Al 6,300
01 T2l 12,600 20,000 AT7,400
TASY Al 2,600
= 6,300
Al 6.300
307 Q20| H 30,000 20,000 90,000
= 15,000
Al 15,000
02 PI2YMBE 30,000 120,000 £90,000
SASY Al 5,000,000+67H £ 30,000
= 15,000
Al 15,000
402 RIZHXHE 0| 460,000 130,000 330,000
= 230,000
Al 230,000
01 PIHXI=EE 460,000 130,000 330,000
IISEE oY Y SUH M2l
20,000,000%29H £ 40,000
= 20,000
Al 20,000
LEDOIZ AIMRI0I ®ETH AlE
30,000, 000+27H 2 60,000
= 30,000
Al 30,000
NS035 04X B2 25,000,000420H 2 50,000
= 25,000
Al 25,000
ANNE +BLH FYAE
40,000, 000%20H £ 80,000
= 40,000
Al 40,000
HSARISANS YA SAE
50,000, 000+47H 2 200,000
= 100,000
Al 100,000
NS0 TN Al 15,000, 000+27H 2 30,000
= 15,000
Al 15,000




M s€lis4dH

HH: SAFSOINRUI|EE

1
0
U
%
0
1
B
o
R
i
U

S B PIEOVE! (Ere): & 2
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
AIIZES A (XE) 180,000 130,000 50,000
= 180,000

308 XX SHHSOIA 50,000 0 50,000
= 50,000

01 MXEHINELS 50,000 0 50,000
MII=ESAE 50,000
= 50,000

403 X HMSAH=01H 130,000 130,000 0
= 130,000

01 AXESHMA2E = 130,000 130,000 0
MII=ESAg 130,000
= 130,000

SO F YIS HBABEHEE) 63,000 26,000 37,000
2 31,500
Al 31,500

201 Y2 Y| 21,500 17,700 3,800
= 10,750
Al 10,750

01 AtS 22/l 21,500 17,700 3,800
SHEFI =8 E3 1,500
= 750
Al 750
fsHZIM 422E ot 20,000
= 10,000
Al 10,000

202 O4Hl 500 1,100 A 600
= 250
Al 250

01 =LA b 500 1,100 A 600
st GI e84 Es 500
= 250
Al 250

301 YR A2 1,000 2,200 A1,200
= 500
Al 500

10 HAIAHIZ &3 1,000 2,200 A 1,200
SIHE I = H L ES 1,000
= 500
Al 500

402 SI2H X201 40,000 0 40,000
= 20,000
Al 20,000

01 It EEX 40,000 0 40,000
SHEA) =83 10,000, 000%4 4 2~ 40,000
= 20,000




M s€lis4dH

Hu: sNROARAYISTS (SUNLSL /Y - 5E)
@ segJI=XE (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
| A 20,000
sSIHEI) =8 &AES(XE) 1,500 3,000 A 1,500
= 1,500
308 AXIEHHI SOl 1,500 3,000 A 1,500
= 1,500
01 MXSHAHBNEEXS 1,500 3,000 A 1,500
SIHEYG) =8 HASF 1,500
= 1,500
SMSASETAIZA(RA) 2,160 2,160 0
= 2,160
202 O4d] 720 720 0
= 720
01 2 ob] 720 720 0
SMEASTAF U] 20,000%x18& G XM *23] 720
= 720
301 LuEtg8 A= 1,440 1,440 0
=2 1,440
12 JIEIE A2 1,440 0 1,440
SMSASETAISIE BAZ
40,000%x18& G XM *23] 1,440
= 1,440
SAMSASEXTAMEA(XH) 1,080 1,080 0
= 1,080
308 XMXIESHHSOIH 1,080 1,080 0
= 1,080
01 MHXSHHEBNEET= 1,080 1,080 0
SMNBASIAIEAN 1,080
= 1,080
NHE=AHI)=HE XK (2H) 26,000 25,000 1,000
= 13,000
Al 13,000
101 Q12| 10,000 9,000 1,000
= 5,000
Al 5,000
04 JIZHMZ2ZAsSE s 10,000 9,000 1,000
NEEs s8Il B3 &N 10,000
= 5,000
Al 5,000
201 LBt29H| 10,600 4,000 6,600
= 5,300
Al 5,300
01 AtR2teldl 10,600 4,000 6,600
SAME e-HIE2LIA 435 A& 10,600
= 5,300
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SN
X XH .
S Tt

el

SEBIER
SUMLASHUIE2Z (5

sZJ=X&

Heka=

>

H

O
e

it
U

o

[=l=]

SH - BH - S(S) - NEMY - BES sy e 52

Al 5,300

202 Oddl 300 1,500 A 1,200
= 150
Al 150

01 SUHYI 300 1,500 A1,200
S48 eHIZLA 245 X 300
2 150
Al 150

301 LEt2A S 5,100 10,500 25,400
= 2,550
Al 2,550

10 SAAHIEA S 5,100 10,500 A5,400
S4E e-HIZ2LIA 2435 K& 5,100
= 2,550
Al 2,550

NAsAI=HES KA (XE) 23,400 216,900 193,500
= 23,400

308 MXIHHSOIH 5,000 216,900 A211,900
= 5,000

01 MXISMB&E= 5,000 216,900 A211,900
NE=sZl=82 # 5,000
= 5,000

403 XIS S A2 0l 18,400 0 18,400
= 18,400

01 MXIEHMA=ZE = 18,400 0 18,400
ANE=sgllsdE ! 18,400
= 18,400

HH2AZHI(sLII=HEH)(IIEH/IIE ,817,841 1,693,974 123,867

oz 2 gyl 694,737 1,572,010 122,727

eI 2| ,694,737 1,572,010 122,727

101 Q1] ,629,457 1,509,670 119,787

01 B ,528,697 1,413,405 115,292
== 852,493
NPT, 3,467,500«3F «12& %1.051 131,197
K& At 1,993,400%25& 128 x1.051 628,520
8= 1,977,500x3F x12& 1.051 74,821
- 9= 1,423,600+ 12 x12& %1.051 17,955
d2+g =23 % 852,493,000%1/12 71,042
ANzt 2fsg 122,001
A &2t 9,603*42 A1 2++2H %122 *1.051 10,174
- NI & A 98,033
2123014 7,801+42A1 2t+6H x 128 x1.051 24,794
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N
=5
O
QR
S
I3
x
@
-
m
g
m

B o) (3) Rl sk oy e
-202 30l 6t
7,277+42 N 2t 198 128 +1.051 73,239
8= 6,682%42 Al 2tx3H 128 x1.051 10,619
= 5,993+42 Al 2t + 12 %122 +1.051 3,175
IE==4 28,560
bH < Kt 40,000%32ZF «12& 15,360
A E - HIS 20,000+55H 123 13,200
AHEHI 2R 9,510
ESim 51,990%4H *43| 832
nsstn 433,880x5F 43| 8,678
d2=Go3 32,880
J2 29,280
-20= 0l & 100,000x12F <128 14,400
-154~204 0| ¢t 80,0005 «12& 4,800
-108~154 0| gt 60,0009 «12& 6,480
-5@~10&= 0| et 50,000+x6ZE «12& 3,600
- FIHAEE 3,600
-254 01 & 30,000+9Z «12& 3,240
-204~25E 0| gt 10,000+3F 122 360
S22 (2X) 40,000« 1E <128 480
FE2RE 1,680
43S 50,000%2ZF «12& 1,200
=S 40,000+ 1E*12& 480
HeEFEA+E 31,457,400%4 .8%12& 18,120
SEHISRIH 50,000+2F «12& 1,200
delgRe 3,467,500+9% 12 3,745
SR 33,600
Jlesgf=¢ 25,440
-Kl &2 60,000+3E «12& 2,160
EN; 50,000%25Z x12& 15,000
-JHEZ (D= AL 50,000+2Z «12& 1,200
=S (DAL 30,000%19€ 122 6,840
DS (A DAL 20,000x1E 123 240
AsSi=2d & HHFER+E
40,000+«3H «12& 1,440
s -9 28 70,000+8ZF «12& 6,720
ZAgAaltl 130,000+32& »12& 49,920
nsSE L 49,800
A& 140,000x3& * 123 5,040
K & At 130,000+2598 123 39,000
8= 0I5t 120,000+4E 123 5,760
YEFIHI 852,493,000%1.2/12 85,250
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SN SIS HE
M HY2EZHI(sLIN=0H)(IIEHIIE
el elE 2 (&9 &d)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
JHAIXI &l 852,493,000%16. 7% 142,367
HOLE &I 852,493,000+ 11/360 26,049
02 JIEtA 2 == 30,172 27,543 2,629
221%E "01'3)
22,198,000+22, 198,000%70%*5. 1%+ 1L 22,991
ANz2te22sg 3,937*42A1 2t 1B 123 1,985
HExg 1,200
HH < Xt 40,000+ 1« 123 480
A E - HIS 20,000~3E «12& 720
A SHI 2 X = 1,944
=stul 51,990+ 1 #43 208
usSstil 433,880+ 1 *43] 1,736
M Z A 130,000+ 12 =12& 1,560
SOHE &I 22,991,000%70%+11/360 492
03 RIAHAZIZNE S 70,588 68,722 1,866
== 39,339
EAt2tel 1,154,740« 123 13,857
2243 1,093,380+ 122 13,121
EHHE 1,030,080+ 12 12,361
e S0SX=IIE 49,419,000+0.6/12 2,471
ANz2te2e g
1,423,380/226%150%* 14 Al 2t x 128 1,588
&= 40,000~3E «12& 1,440
HESIOHEl HUHSXNSIIE 49,419,000%1.2/12 4,942
HAxt==g
S W 1,422,734/226+8A1 2t x3H x 18 2,720
A S A 110,000+«3E 122 3,960
JHAHIE =4I 30,000+3E *12& 1,080
wWEE XY 140,000%3& » 128 5,040
CHEI S At 50,000+3& «12& 1,800
50 2= 6,208
ZUHSEERE=S 64,380,000%4 . 5% 2,898
-RUALEEREES 64,380,000%2 .665% 1,716
LI RALERES  1,716,000%6.55% 113
LELZEHRES 64,380,000%1.3% 837
MNEERES 64,380,000%1.0% 644
204 A2 HH| 65,280 62,340 2,940
02 Mg =22l 65,280 62,340 2,940
L2 (4S4E) 400,000%1H 128 4,800
SN, OHsYHLAE(5=4E)
250,000+«2Z 128 6,000
K AHBES A ) 155,000+25H «12& 46,500
= 140,000 1E *12& 1,680
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S YIS ME
Mo HHS AR (SYIISME)(DIEHIIE)
ol ol e o) (Etol & e
_ _ - NEc
SN BHG(SH) - NRAY - BES Ofl &t ¥ 0l A o1 Hm= 2
8= 105,000%4& 123 5,040
Hek A 105,000+ 12 x 123 1,260
| =& 4l 123,104 121,964 1,140
JI=&Hl 123,104 121,964 1,140
201 LEH2HH| 55,830 54,410 1,420
01 AtS22iHl 55,830 54,410 1,420
SN2 IS 6,000
Y- 23 Ly 30,970
ol &I 11,600
2= 19,370
28! =8 S 8,860
202 O 35,634 33,954 1,680
01 WY 35,634 33,954 1,680
U SH 0 6,720
2ol EE0H| 28,914
203 ¥R =&d| 13,140 9,000 4,140
01 JI22ZHFR=LH 3,300 3,300 0
L2 (4S4E) 3,300
02 FAINAMHRFAHI 2,640 1,320 1,320
R INHRF A 80,000+33& 2,640
04 REN2IHRF=LH 7,200 4,380 2,820
= A&t 350,000+ 122 4,200
Olcis&oHga 250,000+ 123 3,000
204 A= HH| 12,000 10,800 1,200
01 MG HR=AHH| 12,000 10,800 1,200
AF(434Y) 400,000+ 12 *128 4,800
SN, NINsLHLAT(5BHY)
100,000+2 122 2,400
INEEI(GI=3g= 50,000+«8H «12& 4,800
405 AHoHESHI 6,500 13,800 A7,300
01 HAYLSEHSH| 6.500 13,800 A7,300
ARE PC 1,300, 000+5CH 6,500
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